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Jupyter Notebook

- Hhyit: http://121.5.222.84:8888/
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THHEAR A

listrP R —EBUAR A A7

numpy PRI = HEHA R AT A2

A LER T HEHEZE, FNEFEnumpy “HEH4H?
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List—Z#E#2H: list 1d=10, 1,2, 3, 4] (HAANTEESEHint)

list=HEH4R : list 2d = [[0, 1, 2], (IRATS{E([0, 1, 2], [0, 1, 2]
[0, 1, 2]]
(GMNE BB MR TT = 2 B B list, MEPELEXT AT 2 Hint)
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YA ZE S| 5] F (index and slicing):

IPython: zachytol
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NumPy* 42048 (ndarray)
SNEE: import numpy as np
array 2d: ndarray3jg

*:NumPy %R Numerical Python, 2 Python 89— LB AT B TRIFITENEIRES.
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NumPy —#E¥4RZE S| S5 -

IPython: zachytong/Downloads
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list 2B AINumPy 4RSI E = :

Traceback (most rec




“HEHA

NumPy —#E B¢A#/RZE 5] :

array_2d 144]: list_2d >

Traceback (most recent call last)

5.0 3
1, 2D LI sibie, L

array_2d[0,1]
1 '>' not supported between instances of 'list' and 'int

a2 145] . list_2d[mask]

) Traceback (most recent call last)
;2D thon-input : ! nodule:
list_2d mask
mask = array_2d >
only integer scalar a vs can be converted to a scalar index
mask
146 list_2d[mask.telist()]
, False, True]
Traceback (most recent call last)
array.2d[mask] list_2d mask tolist
array([2, 21D
list indices must be integers or slices, not list
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NumPy —#EHHIER : elementwise product, matrix product

IPython: zachytong/Downloads
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list# 4B FAMNumPy#4H B #EEE 1L -

Downloads
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NumPy 5% bR %
1. numpy.range(), numpy.random.randint()
2. numpy.reshape(), numpy.tlatten()
3. numpy.argmin(), numpy.min(), numpy.where()

4. numpy.exp(), numpy.sqrt(), numpy.sum()
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ZHWRRMA AT

listF B — 4R 4B dnfeT E . ?

NumPy = B = 4 3 28 an1a] 4 A% ?

AT LER Tt HHAZE, HITHEEnumpy ZHEELH?
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1£1X8% (iterator)
IEX EPythonf B KHIINEEZ —, RIARIEETRIN—MHER.

ERBE—NALUBERANUENNR. ERBNRNES
HE—PITEHAKIAL, BEIMENITEHINRITER. 1E1KF
HeEEEpf=RER. EXBARNEXRRFE: iter() F next()»

FFE, R THATRZAIERK B (iterable), ERTH T2
LS.
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4 ES (generator)
1E Python #, T yield BYR IR 04 L ES

( generator) °

IREBEEYARNZ, ERFE—DIREIERFARY,
REERATIARIRE, ERPERIEMEMFRZE—TENRS.

FRARERFEITERES, 883 yield FIERBSEF
HEFEHRAANEITER, RE yield BUE, HET—RHK
1T next() F3ERT M HBIL B4R LEETT.

ERA—MERSFEY, BRENE—MNERSFENR.
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SERARFHFIRFA

kL HiE2: FiE3:
def fib(n):# &k Ax def fib(n):# 13 I3 A 2 deffib(n): # 4 B} 25 kR A
ab=11 if n==1 or n==2: a, b, counter=0,1,0
foriin range(n-1): return 1 while True:
ab=bh,a+b return fib{n-1)+fib{n-2) if (counter > n):
return a return
yield a
a,b=hb,a+b

counter += 1
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AT LB HIER S MERES?
Lo NEITIITA RS H
2. SERY/TEPRBIER
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WIS, KRFEH. BASHK (TR « AE
KEH (FHRERX)
def func(argl, arg? = default, *argv, **kwargs):
paral = argv[-1]
para2 = kwargs['demo']

ans = process(argl, arg2, paral, para2)

return ans
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Python Enhancement Proposal#8 i & #3E

Naming: PEP B suggests unique styles of naming for different parts in the language.
This makes it easy to distinguish which type corresponds to each name when reading
code.

» Functions, variables, and attributes should be in lowercase_underscore
format.

» Protected instance attributes should be in _leading_underscore format.

» Private instance attributes should be in ___double_leading_underscore
format.

* Classes and exceptions should be in CapitalizedWword format.
* Module-level constants should be in ALL_CAPS format.

« Instance methods in classes should use self as the name of the first parameter
(which refers to the object).

» Class methods should use c1s as the name of the first parameter (which refers to
the class).
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A FERSIEUR

a= [ 1ar , Jbr , JCI' , de -

a[;] [‘a’f ‘b:r :C:.r
o LS i
a[:_]] [ a, r c,
a[4]

33k W OH O H R
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EREMS!

® LIARART, FIR|istiRMETGESHTHIARNETASE
B] &%

o TREEBETERERRAE—MEEAES A -

® EpiErLURd foriBa) BEHHZE S

® + R EERIARASFHITEIR



| smsesios

EMzipHE ST ANEKIR
REBRKIET

names = [ ‘Cecilia’ , ‘Lise’ , ‘Marie’ |

letters = [len(n) for n in names]
A

longest name = None
max_letters =0
foriin range(len(names)):
count = letters]i]
if count > max_letters:
longest name = namesi]
max_letters = count

TTik2:

for i, name in enumerate(names):
count = letters[i]
if count > max_letters:
longest_name = name
max_letters = count

JTiE3:

for name, count in zip(names, letters):
if count > max_letters:
longest_name = name
max_letters = count



=R tIFidit =
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1 A E— 1 EEHEEE nums FI— 25 BAR(E target, ERTEIZEEEP L F
B#R{E target BOFR A 23, HELEMNNHATE. BESMHEaANRSN—
MEE. BE, HAPR—IEZEEEZEETRHESHI.

1
WA
e
B

il 2:

WA
Wi

BA:
i

nums = [2,7,11,15], target = 9
[@,1]
EX nums[@] + nums[1] == 9 , iE@E [e, 1] .

nums = [3,2,4], target =6
[1,2]

nums = [3,3], target = 6
[0,1]
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2 BIR— 1 EH x, MR x E—EXEH, RE true; FN, 1EE false . E
NHEREF (NEEH) MEF (NEEL) ZHE—HAEY. Fiin, 121

£h3, M123 2.

ba: R

WA x = 121

Wi true
i 2:

WA x = -121

$i: false

BR: Areaik, b -121 . NEEER, B 121- , BREFE—TEH.
w3

WA x = 10

Bl false

BE: AEEEiE, A el . ArETE—TRIXH.
T a:

WA x = -101

Wi false
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3.4 F— n X n BT HEEERE matrix TR — " E& . BT EURIRET £ HESE 90
E. fROIE R EEEG, XERENEEREEUINNZHEEN. BAE
B S —EEREERIR.

123 74| 1
4 5|6 | —>|8]|5]|2
71819 9 6|3

A matrix = [[1,2,3],14,5,6]1,([7,8,9]]
@i [17,4,11,108,5,2],(9,6,3]]
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74,

FRAURIFETMEABERFNEAEN, 2EE MM NMAREY
Ak, FEEITEY. THEFKEFES.
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1. SBE— P EEEE nums FI— B BTE target, BIREZEAPHE
O BENE target R9ER M B, FHREIEINHNETR. BRRBHEARS
MN—PEE. B2, HEFTE— TEREEEETEESER.

w1

\A:
Lol

R 2:

BA:
B

Tl 3:

BA:

Lon o

nums = [2,7,11,15], target = 9

[@,1]

: @% nums[@] + nums[1] ==.9 , ;E@ [e, 11 ;
nums = [3,2,4], target = 6
[1721

nums = [3,3], target =6
[0,1]
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1. 8B — M EHEUE nums FI— B B1IRE target, BIREZEEPHKL
FIAETME target RYHB I B2, HREEMNNEE TR REBFOARS
MN—PEE. B2, HEFTE— TEREEEETEESER.

[ @ #iA: intlist nums, int target

@ %Hi: int list [index 1, index 2]

BH%Est— 3 SHEANRTN—PMERE: numshFTRESH, RE5—
42 5| index i, index j #E nums[index+i]
+nums[index j] == target

| @ BER— A TTEEREEFAESHIL index | 1= index j
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1. EE— P EENE nums FI—PEEETRE target, BIREZEEPEKL
FIABETRME target RYAD P 2, FREIE(IAIEE TR BREEMHEARS
MN—MEE, ER, HETE— nHEEERErHESEHI.

RE—: WEEH

for i in range(len(nums)-1):
for j in range(i, len(nums)):

if nums[i] + nums[j] == target:
return [i, j]
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1. SBE— P EEEE nums FI— B BTE target, BIREZEAPHE
O BENE target R9ER M B, FHREIEINHNETR. BRRBHEARS
MN—MEZRE. BE, HAPE— T TREEEETFEEEHI.

(===
BEE . BnumshRTBMTREASHFIHF, FikEtargetfE PRI R AIE

i =nums_copy.index{nums[temp_i])

nums _copy = hums.copy()
if nums[temp j] = nums[temp i]:

nums.sort()
temp i, temp j = 0, len(nums)-1 Pt i ;
st j = nums_copy.index(nums[temp_j])
Whli:‘enﬁ;es.[temp i] + nums[temp j] < target: ebe:
temp i +=1 j=nums_copy[i+1:Lindex(nums[temp j])+i+1
elif nums[temp_i] + numsftemp j] > target: ~ return|[i, jl
temp j =1
else:

break
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1. SBE— P EEEE nums FI— B BTE target, BIREZEAPHE
O BENE target R9ER M B, FHREIEINHNETR. BRRBHEARS
MN—MEZRE. BE, HAPE— T TREEEETFEEEHI.

BIE=: CHATFHEEEEN
maps = {}
for i, num in enumerate(nums):
maps[num] =i
for i, num in enumerate(nums):
j = maps.get(target - num)
if jis not Noneand j !=i:
return [i, j]
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2. SBIR—PEE x , R x B—MEEE, iR[E true ; BN, EME false
RIXHRIEER (WNERA) EF (WNGRE) EEE ey, Hila,
121 2[3Z, 1 123 7.

o e
WA x =121
$ibi: true

T 2

@A x = -121
Hiti: false
B AEBEE, X -121 . HABEEEER, B 121- . BEETE-TEIH.

T3
WA x =18
$ili: false

BR: MGEEE, & 0l BREFE-TExM.

% = -101
i false
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2 BR— B x , TN x B—EINEEY, IRE] true ; BN, iRE false .
EINHEEERF (WCEB) MEF (WNGRAL) EEE—FaNEEs. 5,
121 2E3Z, 1 123 A&,

@ MHIA: intx

@ 't : Bool true/false

@ xFmEMmEHTA. FEIoXTRESE
| @ ASE5EFEE, AHBEEREMEE

A
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2. SBAR— B x , IR x B—EIZEELY, IRE] true ; BN, JR[E false .
EINHEEERF (WCEB) MEF (WNGRAL) EEE—FaNEEs. 5,
121 2EIX, 123 72,

BE—: iTEHOIRAEIFREX inverse, BHINMMAEESIEE

if x < 0:

return False
else:
quo = x

res, x inverse = 0,0

while quo = 0:
res = quo % 10
X_inverse =x_inverse*10 + res
quo=quo/10

return x == x_inverse
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2. SBAR— B x , IR x B—EIZEELY, IRE] true ; BN, JR[E false .
EINHEEERF (WCEB) MEF (WNGRAL) EEE—FaNEEs. 5,
121 2EIX, 123 72,

IR T FLHaRksteREY, BHRIEE SRS S RSO IRIEE

x_str = str(x)
half_lenth = len(x_str)//2 if len{x_str)%2 I=0 else len(x_str)//2 + 1
for i in range(half _lenth):
if x_str[i] I=x_str[len{x_str)-1-i]:
return False
return True
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2. SBAR— B x , IR x B—EIZEELY, IRE] true ; BN, JR[E false .
EINHEEERF (WCEB) MEF (WNGRAL) EEE—FaNEEs. 5,
121 2EIX, 123 72,

BIE=: MRSt BIRFRIE, Bt THIM

return x == str(x)[::-1]
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3. 58— n x n BI”HERRRE matrix RR—PEG. BIREEGIREEIER
90 EH. {RTE [Rith TEEEEHR,
& ERS— MR ER,

1
1 2|3
4 | 5| 6
71819
BA: matrix = [[1,2,3],[4,5,6],
Wi [07,4,1],18,5,2]1,19,6,31]

XEWEREEEEERBNN LA, 1B

74| 1
—>| 8|52
9 6|3

[7,8,911
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3. 45— n x n PITHEERE matrix Trn— 1 EG. BREEGINETE s
90 . {RARTE [Ri HEEEEIR, XBEWENEEEZSMMANN_4EEE. &
TE FHEB— BRI,

0,0) [ (0.1) [ (0,2) | (0,3) | (0,4}

(1L0) [ (@.1) [ (L2) | (L3) [ (1.4

2.0 [ @1) [ (22) | (2:3) [ 24

(3:0) [ @:1) [ 3:2) | 3:3) [ B

&0) [ (4:1) [ (4:2) | (4:3) | (44
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3. 45— n x n PITHEERE matrix Trn— 1 EG. BREEGINETE s
90 . {RARTE [Ri HEEEEIR, XBEWENEEEZSMMANN_4EEE. &
TE FHEB— BRI,

1 (2|34 112311 1113 (1 11111 1]1|1]1
1 (2|34 112134 112]|3]2 2 |2 | 3|2 2(2]12]2
1 (2|34 112134 3(2(3]4 3(2(3]3 313133
1 (2|34 412134 41244 4|1 4] 4)|4 4 |1 4414
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3. #8%FE—4 n x n PTHEERE matrix E—DEIE,
{RAIRTE [Rith HEAEENS,

9 E.

BRSBTS s e
XEREREEE RSB N AR,

& ERS— MR ER,

import numpy as np
n = int{input("The size of the sqare:"))
arr=]
mask = np.zeros([n,n],dtype = int)
line =[]
temp =]
size=n
for i in range(n):
for jin range(n):
print{"Input number (%d,%d)"%(i+1,j+1),end="")
num= input(}
num = int(num)
line.append{num)
arr.append(line)
line=1]

=0
=0
offset=0
while(True):
arr[jlln-1-il,arr[n-1-i] [n-1-l,arin-1-lLarrfil ] = arliljlarrfln-1- Larin- 1- ][n- 1-jlarrn -
1-j10
n!wask[l'][i] =¥
maskjlln-1-i]=0
mask[n-1-iln-1-j =0
maskln-1-jllil=0
=1
if(j-offset==size-1):
size-=2
=1
offset+=1
jroffset
if(size<=1):
break
print{arr)
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3. 58— n x n BI”HERRRE matrix RR—PEG. BIREEGIREEIER
90 EH, {RE [Rith fEEEHR, XEREREEEXESLANN_HEEMRE. &

& ERBS— M RIEEER,
BE—: HHIEEhEE 00BN AR KRR, IBIOTehkTiR

o] [
BN

6 |7 12| 6

Zl[[elj=][[]

[&]|[]][v][[]
[=]|[«] [~]|[=]
[3]|[=]|[=][]

12/| 16 16| 7
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3. 58— n x n BI”HERRRE matrix RR—PEG. BIREEGIREEIER
90 EH, {RE [Rith fEEEHR, XEREREEEXESLANN_HEEMRE. &
E ﬁﬁﬁn—’ﬁiﬁﬂ"iéﬁﬁﬁ‘%@{%a

BRE—: IR IR 0B AMTITIRARER, BT 3EiR

(o ]|["

[i,]

‘

7

[n-14, il

BlEDE
BERE

n = len(matrix)
foriinrange(n /f 2+ n % 2): # row
for jin range(n // 2): # column
iy -t temp = matrix[n - 1 - j][i]
matrix[n - 1 -j][i] = matrix[n-1-il[n-1-j]
matrix[n - 1-i][n- 1-j] = matrix[jl[n-1-i]
matrix[j][n - 1 - i] = matrix[i][j]
matrix[i][j] = temp
[n-1-i, n-1-j]
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3. 87— n x n BYTHERRRE matrix T—PER. BIRGEGRIRETEHhese
90 EH, {RE [Rith fEEEHR, XEREREEEXESLANN_HEEMRE. &
& ERS— MR ER,

BT IR iR 00BN NAMRAIAR R, IEHD e 3EiR

(BN 1 [ 9 [[11 [i5]13] 2 [[s
210 14@@1
—>
13|([3]|/6 /|| 7 12 |6 |[8]|| 9
15]| 14 | 12 | 16 16| 7 |10 | 11
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3. 58— n x n BI”HERRRE matrix RR—PEG. BIREEGIREEIER
90 EH, {RE [Rith fEEEHR, XEREREEEXESLANN_HEEMRE. &
& ERS— M EIEEER,

BT RIS ETiE e 00 N AMTITIAR R, EH7ehk IR

n = len{matrix)
@\ g 11 foriin range(n // 2): # layer

-

A forjinrange(i,n -i-1): # layer size
temp = matrix[n - 1 - j][i]
il 2 . 10 fi, n-1-i] matrix[n - 1 - j][i] = matrix[n - 1-i][n-1-]j]
| LJ o matrix[n-1-i][n-1-j]=matrix[j][n-1-i]
matrix[j][n - 1 - i] = matrix[i](j]
13 IEI 6 7 matrix(i][j] = temp

m151(|15|] 14 | 12 | 16 | 114,014
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3. 58— n x n BI”HERRRE matrix RR—PEG. BIREEGIREEIER
90 EH, {RE [Rith fEEEHR, XEREREEEXESLANN_HEEMRE. &
& ERBS— M RIEEER,

BR=: BiRTRoMAEFTNNATR (BMEE) MAANREREs

2] A\ 120 j1 <-> [i, n=j-1]

2:[i, j1 <-> [n-i-1,]]
| v 31,31 <-> [, ]
—@} ") 2

A
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3. 58— n x n BI”HERRRE matrix RR—PEG. BIREEGIREEIER
90 EH, {RE [Rith fEEEHR, XEREREEEXESLANN_HEEMRE. &
& ERS— I EMREIEEER,

BR= BiETRomAAEER (BIFEE) MAAMTRER

n =len(matrix)
foriin range(n):
for j in range(i):
matrix[i][j], matrix[j][i] = matrix[j][i], matrix[i][j]
for iin range(n):
for j in range(n):
matrix[i][j] = matrix[i][n-j-1]

matrix[:] = zip(*matrix[::-1])
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B8

1. SifiERE . MECAMS PRI, HEHFSERFRBABFES RIERS.-

(5]

LS. KiERES AFER, BRERSHETIER.

3. gﬁ%ﬁ:o WEIRE-FERE MR R, BEEREM A NAMESR Al R
MEE,

4. TRB%. A ARSI Ao ZETRIR (BURER) ik
BHSEE, ANTRAERGITREMIIL.

5. BRFHALAES] (comer cases) o FRUFHMIAS A% —HITAIEN/F E 80 ATEN,
EREFRFAH. F3I T BHEHSHNEELETRMANSSHITRE.

6. IAZH . FERMER. TUMNIELERTEMES, SREREOESEE, B
FERB.

7. BLEATH (Tradeoff) . BARIEE R T, FEISZEIE RENNE.

8. Have fun!
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